

NAME: ODOGWU PAUL CHIDOZIE

MATRIC NO.: IS/ENG104/039

DEPT.: ELECTRICAL/ELECTRONICS ENGINEERING

COURSE CODE: ENGI 381

ASSIGNMENT 3

(i) $y = e^{x^2+x}$

Using Chain rule

$$\frac{dy}{dx} = \frac{dy}{du} \times \frac{du}{dx}$$

$$u = x^2 + x \quad y = e^u$$

$$\frac{du}{dx} = 2x + 1 \quad \frac{dy}{du} = e^u$$

$$\frac{dy}{dx} = e^u \times (2x + 1) = (2x + 1)e^u$$

$$\frac{dy}{dx} = (2x + 1)e^{x^2+x} \Rightarrow y' = (2x + 1)e^{x^2+x}$$

Since $y = e^{x^2+x}$ and $\frac{dy}{dx} = (2x + 1)e^{x^2+x}$

To find $y'' \Rightarrow \frac{d^2y}{dx^2}$, we use product rule

$$\Rightarrow u dv + v du$$

$$u = e^{x^2+x} \quad v = 2x + 1$$

$$du = (2x + 1)e^{x^2+x} \quad dv = 2$$

$$\frac{d^2y}{dx^2} = e^{x^2+x} (2) + (2x + 1)(2x + 1)e^{x^2+x}$$

$$\frac{d^2y}{dx^2} = (2x + 1)(2x + 1)e^{x^2+x} + 2e^{x^2+x}$$

Recall: $y = e^{x^2+x}$ and $y' = (2x + 1)e^{x^2+x}$

$$\therefore y'' = y'(2x + 1) + 2y$$

$$\underbrace{y''}_{w_1} = \underbrace{y'(2x + 1)}_{w_2} + \underbrace{2y}_{w_3}$$

w_1 ;

$$u = y^{(2)}$$

$$u^{(n)} = y^{(n+2)}$$

w_2 ;

$$u = y^{(1)}$$

$$u^{(n)} = y^{(n+1)}$$

w_3 ;

$$u = y$$

$$u^{(n)} = y^{(n)}$$

$$v = 2$$

$$v^{(1)} = 0$$

$$v = 2x + 1$$

$$v^{(1)} = 2$$

$$w_1 = w_2 + w_3$$

$$y^{(n+2)} = y^{(n+1)}(2x+1) + ny^n \cdot 2 + y^n \cdot 2$$

$$y^{(n+2)} = y^{(n+1)}(2x+1) + 2ny^n + 2y^n$$

$$\therefore y^{(n+2)} = (2x+1)y^{(n+1)} + 2(n+1)y^n$$

$$(2)(i) \quad y = x^3 e^{4x}$$

$$u = e^{4x}$$

$$V = x^3$$

$$u^{(n)} = 4^n e^{4x}$$

$$V^{(0)} = x^3$$

$$u^{(n-1)} = 4^{n-1} e^{4x}$$

$$V^{(1)} = 3x^2$$

$$u^{(n-2)} = 4^{n-2} e^{4x}$$

$$V^{(2)} = 6x$$

$$u^{(n-3)} = 4^{n-3} e^{4x}$$

$$V^{(3)} = 6$$

$$u^{(n-4)} = 4^{n-4} e^{4x}$$

$$V^{(4)} = 0$$

$$y^{(n)} = u^{(n)} V^{(0)} + n u^{(n-1)} V^{(1)} + \frac{n(n-1)}{2!} u^{(n-2)} V^{(2)} + \frac{n(n-1)(n-2)}{3!} u^{(n-3)} V^{(3)}$$

$$+ \frac{n(n-1)(n-2)(n-3)}{4!} u^{(n-4)} V^{(4)}$$

$$y^{(n)} = 4^n e^{4x} \cdot x^3 + n \cdot 4^{n-1} e^{4x} \cdot 3x^2 + \frac{n(n-1)}{2!} 4^{n-2} e^{4x} \cdot 6x$$

$$+ \frac{n(n-1)(n-2)}{3!} 4^{n-3} e^{4x} \cdot 6 + \frac{n(n-1)(n-2)(n-3)}{4!} 4^{n-4} e^{4x} \cdot 0$$

$$y^{(n)} = 4^n e^{4x} \cdot x^3 + n 4^{n-1} e^{4x} \cdot 3x^2 + n(n-1) 4^{n-2} e^{4x} \cdot 3x + n(n-1)(n-2) 4^{n-3} e^{4x}$$

$$y^{(n)} = e^{4x} [4^n x^3 + n 4^{n-1} 3x^2 + n(n-1) 4^{n-2} 3x + n(n-1)(n-2) 4^{n-3}]$$

when $n=5$

$$y^{(5)} = e^{4x} [(4^5)(x^3) + (5)(4^4)(3x^2) + (5)(4)(4^3)(3x) + (5)(4)(3)(4^2)]$$

$$y^{(5)} = e^{4x} [1024x^3 + 3840x^2 + 3840x + 960]$$

$$(ii) \quad x^2 \frac{d^2 y}{dx^2} + x \frac{dy}{dx} + y = 0$$

$$\Rightarrow x^2 y'' + x y' + y = 0$$

$$\Rightarrow x^2 y^{(2)} + x y^{(1)} + y = 0$$

$$w_i = x^2 y^{(2)}$$

$$u = y^{(2)}$$

$$V = x^2$$

$$u^{(n)} = y^{(n+2)}$$

$$V^{(1)} = 2x$$

$$u^{(n-1)} = y^{(n+1)}$$

$$V^{(2)} = 2$$

$$u^{(n-2)} = y^{(n)}$$

$$V^{(3)} = 0$$

~~W₁⁽ⁿ⁾ = y⁽ⁿ⁺²⁾ x² + n y⁽ⁿ⁺¹⁾ 2x + n(n-1) y⁽ⁿ⁾ 2~~

$$W_1^{(n)} = y^{(n+2)} x^2 + n y^{(n+1)} 2x + \frac{n(n-1) y^{(n)} 2}{2!}$$

$$W_2^{(n)} = y^{(n+1)} x + n y^{(n)}$$

$$W_3^{(n)} = y^{(n)}$$

$$\Rightarrow x^2 y^{(n+2)} + 2x n y^{(n+1)} + n(n-1) y^{(n)} + x y^{(n+1)} + n y^{(n)} + y^{(n)} = 0$$

$$\Rightarrow x^2 y^{(n+2)} + 2x n y^{(n+1)} + x y^{(n+1)} + n(n-1) y^{(n)} + n y^{(n)} + y^{(n)} = 0$$

$$\Rightarrow x^2 y^{(n+2)} + x y^{(n+1)} (2n+1) + y^{(n)} (n(n-1) + n+1) = 0$$

$$\Rightarrow x^2 y^{(n+2)} + x y^{(n+1)} (2n+1) + y^{(n)} (n^2 - n + n + 1) = 0$$

$$\Rightarrow x^2 y^{(n+2)} + (2n+1) x y^{(n+1)} + (n^2+1) y^{(n)} = 0$$